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Question No 001 - 300
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THE LINK FOR ONLINE OBJECTION SYSTEM WILL START FROM 04-01-2022; 04:00 PM ONWARDS
Instructions / 3¥ell

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted through ONLINE OBJECTION SUBMISSION SYSTEM only.
Physical submission of suggestions will not be considered.

(2) Question wise suggestion to be submitted in the prescribed format (proforma) published on the
website / online objection submission system.

(3) All suggestions are to be submitted with reference to the Master Question Paper with provisional
answer key (Master Question Paper), published herewith<on the website / online objection
submission system. Objections should be sent referring to.the Question, Question No. & options of the
Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master Question
Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the responses given
by him in his answer sheet. Objections shall notbe considered, in case, if responses given in the answer
sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question should be made on separate sheet. Objection for more than one question
in single sheet shall not be considered.

GREcUR o{lA{l YUt Uietat sRellell ABELF] AU, WoRAAUL clitil-} et I SEA YAULA LUl AU o8]

(1) GRAeaR citi-YAll §5ct ot el W oBsalet AoHl2let AR M 6l % Uot{le scllell _2. 3043 el 2UWAH
gL vUdle(l 5 AU Al sctall AUAA citl-Yuoll Lol Aalil AU A ogl Boll Wit oy Adl.

(2) GREUR aiul-yusll 2% 5l AnAE2 / WolcAl ot N oBs2ot A2t ke UR YRt 9Ade (At oiystioll
% GUAlaL sal

(3) GAEAR Wellal UIlatHl HAA YHUYRASIHL WA USSHLS Y0l clitll-Y Aol 9 ol Sl cdAHIM -3 Asl
Aotz UR YRty A YUABAA loAR 8l (HIR2R YsUA)oll Ysl sHIs Yool ol A Aealul % s2all.

(4) HReR ysusil AlEwe yst wa [@scu Rlatastl aiu-yuel ua Aol wadl «i&l.

(5)) GREAUR Ysloll [AsEU UR clitll % 5 B Al [AseU 30 B ¥ cllol JAAA B A el GRE R Wellol Grtradlul
AUNUA A ANSA, GEAR YUAA wcllol AN GriRaAlol wellol @lat §3 Al GREAR 7Y 5 clltll-Y ol
€RllotHL Aclld o3l

(6) A UsL MR A % clltl-YUol Uals cllUd. As % citll-yAol ustsHi Al duR yslls(l 292U st 8A Al
Aol cAitil- Aol LUl Al o8l

Website link for online objection submission system : www.safevaults.in/login
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001.  ~Da-u [l [Qaneuni adq sy [ / (@l 0 / 2l © d-l aloy [Asey uaie s,
(1) MRA] 4 A5 [Qu-u 54 QAAsN-U 2042 251 ©.
(2) AAsn-l e[2al cuRd (A2l 951 $3 2uadl e 6.

(A) bin [t i 9. (B) einimid) visu [Qauq a0 -l
(C) WA (2) (D) = (1)
002. DA Acpuinidl Al usal su1 A% Rl ay e
(A) U~ (B) sRueu
(C) Hanay (D) [alzsn
003.  cuRd-l axdl a@dl 2011 AR *HRAdl &4 azdl-i 25 Aeeini DA-umidl sa el azdl-l
251usl ALl 2081 89 ?
(A) Wy (B) Aenan
(C) [alzsn (D) F3iru
004. s, 5193 21 ULl ALl su1 GRaus i undl yd arsa8 8 7
(A) evtiRl-l Yoy Bauesel (B) Hunal-ll Gausl
(C) HsR2-l Gauedl (D) deonGamuea

005. &g [SHiau-u glondlui >udal aRuwe &l sielui g s8¢ ?

(A) opud (B) YR

(C) Wl (D) Gunidl 215 ur 1l
006. AU YA s A e ?

(A) oifda W (B) Wluonst Wi

(O) vl wa (D) $IASIRH WA

007.  -Da-u [l [Qaneuni adqd sy [Quu/lAa-l 2] /0l 6 d-l diou [asen ue s mRrdHl
(1) w3l a2 v aug Ul ud aan Gr-yd ds odi 2l aa @l 69,
(2) Grir-u Helr i Slugeudl G Guoi Al uHRL elEerydell Gr-ulm ds odi aed au d

(A) Al (B) H1A 2

(CyGiAHil 25U A . (D) (1) A (2) i L 9.
008.  QURAHL sALUSIRL HHIAHE ay A0 QIR AHAL A HA € ?

(A) re-R1edl gl (B) 231 92 ¥l

(C) 51l ol (D) it ol
009. . uRu: dal-u Alaeadl w3yl e[ or2ud eAML........... 54 vuad A% 9.

(A) wiani (B) Al

(C) AldHL (D) 951

010.  cussi asarll w512 AalAd 215 WA (e su Brecuni 2uda 9 ?

(A) 32 (B) a4
(C) YuHsI4 (D) Y
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011.  IRd OB Gewe-Hi eani suL A 8 ?
(A) tllan (B) usdl
(C) Al (D) AL
012.  UPUAR SUSHAS sUL 20dAg &9 ?
(A) A4YR (B) 2uYR
(C) -wduyR (D) AHAUR
013.  AUWSA-L ASAUR 5UL AFAHL HrllAUHT 2ud & ?
(A) [Bwaa uga (B) U1
(C) BRvi3 (D) HRMEN
014. Al Rasen si-dl wd qe8a o ?
A) B8R (B) 23
(C) ddau (D) A1
015.  GURd 2 WilEequ Qoo A1A cuRani sedl AUl 5w sar?
(A) AR (B) AR
(C) Wi D) &
016. gy [Acnn 1 A UH Mat Hed A-uniddl suLd nde o 2
(A) 2U3d (B)#i2a1Bey2
(C) wiell (D) aiust
017.  dlal Yo i yaula-dl Yk Al -unidl sil ug Aded sdi ?
(A) Rasa (B) 2ol
(C) e (D) [Qicuson
018.  AHEIAULH 2UAA Mgl [Seal YAl ASHE WS 1R 5UL ANHE i8] 2udd 8l ?
(A) .. 1415 (B) 9. 1410
(C) .. 1411 (D) S.3. 1421
019.  dRAdHi HiRdl A=A sl wylBun su20da 8 ?
(A) 4 (B) %512
(C) ANHELlE (D) a3igL
020.  GULRRUR Gl O51AL A -uniddl sul a0 2uda 8 ?
(A% e (B) HSuU
(C) %-us (D) AR
021, . yrisi-l aed 812 udeuni AN arq el Ada s auHi SR 2da 8 ?
(A) 9.:. 2014 (B) 9.4 2015
(C) $.4. 2016 (D) $.:. 2012
022.  9Ruani 3 Al 53w WA 2ulZafl RNuH- 22001 5L A0 s 20l A ?
(A) el (B) A1y IR
(C) sl (D) Afluo
BCU - MASTER | 2 [ Contd.
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023.  -and -ide deasl - sa arui a8 dl ?
(A) 2010 (B) 2012
(C) 2014 (D) 2015
024.  DA-umidl sid sudls Y512 Hold Al ?
(A) Gugis: #sll (B) Moo vl “gels”
(C) A%~% W (D) 28l Ay
025. 4oL eidoud Han-2 NA-unidl sl glRL A3 sUHL 20dQ ¢dl ?
(A) 344-5 A (B) S [Qanuor
(C) &1l 3Rl (D) Gua- W4 visuwt 1l
026.  Ad-uHl Aigia-l agzud NA-nxidll siel 53 edl ?
(A) sRew 8152 (B) 2l uRLL 92
(C) sullarin 4 (D) allewn
027.  ~Da-u (-l [Qaneuni adq sy [ / (@l 0 / i © d-l-aldy [Aseq uaie su.
(1) 6.2 1881 Hi Heoid [Bra o) wiga-il NuiA sAHL 2044 Sl
(2) 2 [Qdu sl cudla ~uandle wrL [Bidla e gAML 5l U YsgHl Adidl asel dd) At
Sl
(A) Hat (1) (B) HizL(2)
(C) (1) &1 (2) tiA (D) tiAHiedl 2isu <l
028.  stedloidu-i viiesiH e NA-unisdl i A0 ?
(A) tll.ofl cue (B) oil.3 AR
(O) tll.ofl.cnd 244 6l 5 R (D) YA UR.AL
029.  HeidlR asl-l [Renii AR 2is(Aa s W2 62 ¥+ Acid nale- suL A0 244 8 ?
(A) acacdl (B) wedlyA
(C) Gzl (D) AL GLARIISL
030. i3 HelepAue-l Al 56 ¢dl ?
(A)y it (B) 4wl
(€) gll0R (D) sl
031, “laswulecr” Guild 1Rl 5UR Jtd WS S1R el ?
(A) A (B) Y5
(C) At us el (D) A% oflo
032. Dl Hud sl Al ay aul WA S0 WA S8 el ?
(A) weioll (B) msorsi
(C) tUoR (D) 1Y
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033.  AeBel vllam-u [Aauq siasHiguR dusdld uloy [Aseu e 2.
1) Rdis (2) W (3) RRAMIR (4) WRA
A) 3), (1), (2), @) (B) 3), (1), 4), (2)
© @), (), (2, D) (1), 3), @), (2)

034. (8-l s1MAUG a2 Fd KA A, 1823 Hi [R+e-il A010UR] YR H3Al U513 2igAA e 5l
SIUEL U122, 1853 Hi $UL AR %A sl el ?

(A) Al U8R (B) AR AR Wesls

(C) [alaun vz sdy (D) al$ [alauw silf2s
035.  3elld2 et dly- vddld.......... SR ECTEEICTR R IE TR N

(A) S 1945 (B) %S 1946

(C) 2122 1946 (D) A2WIR 1945
036.  A2H Y2 R ANAunied 54 doL A0H A e ?

(A) uisy (B) AR

(C) Al (D) ueaa

037. Ay vue yrau AlRMRAH, 2013 -wL deeui DA [Qa [aneunl ad- sy [ / [ ) /
A1 69 Al U1y [Asey uie s

(1) 20 2ALRAUH AHA AU d1-5-7-2013 9 Qo ada €.

(2) 2AARUH Viddld A lsaq 2w, a6 w4 Higiue s1a 3[R 3,2 14 1l Balaum-u asius
g2 €2 W vuua-l o © ?

(A) A (1) (B) Had (2)

(C) (1) i (2) bin (D) siAnig) 2su Al
038. AR gouAl-l €2 524 251 5 ddl B Sl d- He gonau-l Ruld 58 © ?

A)2 (B)3

(€4 D)5

039. [Rl¥eq vidcuazenui waUR sl [Qana 2 M andl awar w2 cudl Rad 6ies gl suL anyi
Alsw Al A3 Sl 2dd © ?

(A) $.3. 2019 (B) $.¥. 2018
(C) 9.3..2017 (D) $.4. 2021
040.  GURAHI sHARNA U HigALl Gl [Rale {2l 2aR 9..........
(A) AR (B) Au 2uas
(C) A8s YU YASLS (D) Uld culsa 2uas
041. . AHIRs s1MeRl W2 AlA-umidl siel Gudiisdl Bud yasis s o ?
(A) aurdlu [Rnd ivs B) [ Wuay
(C) HAlla 2naia (D) 2 6YRU
042. g‘ﬂ?}llé (United Payments Interface- UPI) -l A3 XAl SUL auui 246 ¢dl ?
(A) 2019 (B) 2016
(C) 2018 (D) 2017
BCU - MASTER | 4 [ Contd.
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043.  gyH AL e Aunid) sy Huau Aao 9 ?

(A) wde Hanay (B) [Qx Houau

(C) 5[ 2t (3 s Huau (D) Al 21 Adlsela Got Hanax
044.  [3flea SR 51054 viadld [Astaml S2a @Al AHd 2dd € ?

(A) Ad (B) -t

(C) uixn (D) U
045. 5[ 61200 vierdq WL HdlA d- As(aazd DA U5 st nd 52 69 ?

(A) $1a3523 Vlis WS A3 S0 52 (B) §3 siulaq 215 Sl

(C) 31u3522 ¥lis Ssi-UMlsn virg 125U (D) A 516(Rd 28 a3 Ssi-iialsn RuA
046. 2082 adladl stalui Sl 12 na=l Y- A32ud su adul saami 20da edl ?

(A) 2007 (B) 2009
(C) 2014 (D) 2015
047.  suL - UMl 2t aaaud w2 susly aaal adlan s2ard xuRad S2AM 2udd sq
(A) 2PBruRAi (B) GURHI
(C) el (D) dui

048.  ASlga 2 AglAd cua oy si-iqari Gaadl 220da 5/ WA 2 [BHdl W2 2uaiog sl Sea
sl HI2 YrtdH A1 Hed Uld aans g © ?

(A) 21 (B) 25
(C)23 (D) 20
049. YAl Yid MURAL AQHAU sU1 21742008 GIRLSRAURLBUAQ O ¢
(A) 20 (B) 19
(C)18 (D) 17
050. SR AlAAHi yaeyd s sut ilaa-ls Yl AlRRumed Ha saumi 2uda o ?
(A) 7 Wi g Aanaq ARRan (B) 15 1 YL Aauaq =AlRan
(C) 42 i YL Aauuq =AlRRAA (D) 44 Hi YR A2 AlRRaR
051,  GuRA- AlA8AA sA A0 AU HUARA 241 s WAl [ 2uuumi uda © ?
(A) 2129€ - 39 (B) AY49€ - 40
(C) A269% - 41 (D) A1249¢ - 42
052.  GURr A[BAAL su1 G Vel L A0 duuam 2ua 8 ?
(A)2uym (B) HNGLA 8551

(€) RlasAs es5i-il AHa saa W Gual (D) 2ilau Yo wlza
053. . GURAr LRSI Heyd 8551l dvan sedl €9 ?

(A) 4 (B)5
(©) 6 (D) BuR U4l visugt 1l

054. SR AlAdA vguR A sRieu Al siumi (Al8q & ?
(A) nau={l (B) zuld
(C) WAl (D) GUR-l dHIH

BCU - MASTER | 5 [ P.T.O.

Free Pharmacy Notes & MCQ Mock Quiz Job Notification Visit https://thepharmapedia.com/


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF



Previous Year Paper GPAT Pharmacist Drud Inspector/DCO Visit https://thepharmapedia.com/

055.  GURAU BRdH ~unauHl gl g Ava sedl ¢ ?
(A) 30 (B) 31
(C) 32 (D) 34
056. AUl U HSUMHULLAL 2URAU AAE 5UL A8 g1RL Qdudl s &
(A) AlSAML (B) AFAAML
(C) AAE-U 516U A gl (D) BuR U4l isunt Adl.
057.  GURd- At U1 272698 S50 AUl BRAAH =unau-l urHel Hidtal xAB51R © ?
(A) x14269¢ - 129 (B) A9 - 143
(C) A14249¢ - 140 (D) A1249¢ - 145
058.  ~ltaw Ll AL SR 53 A5 €9 ?
(A) 2uld (B) A3msL-
(C) due (D) WA}z
059.  @ls Acw nAloiL sl A G AlAsHE su1L 2698 dRami udl © 7
(A) 214289¢ - 317 (B) x4249¢ - 318
(C) x1429¢ - 319 (D) A1 29¢ - 320
060.  2j2ell vuuloy, You Y2ell s[HMAR 24 ol s2cn Y2ell s[RAARI birig id AL ?
(A)2 (B)3
(C) MRa-l AlAunHil v [Rad 234 -l (D)4
061.  ~lA- Gl sHHi dAlsdl.
348 .9
579 11
A9 8 3 4 ®38 9 3 4
119’5 7 9’11’ 5 7
©38 9 43 M9 8 43
9° 11" 7.5 11°9° 7’ 5
062. 876 +237+876 x 663 =...%....
(A) 876400 (B) 784800
(C)-788400 (D) 878400
063. 37600 =470 - 40 =.......
(A) 5 (B)6
©)4 D) 2
064. * wanAR-sui 58 Avaul 2ua8 ?
64?— 8 _,
(A) 16.2 (B) 8.1
(C) 1.62 (D) 8.2
BCU - MASTER | 6 [ Contd.
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065. AL AvaAiu, ollog e+l ivar udan doie) ol el 24 {lon o1+l e a1l 9. o 24 AR v
AN 44 89, dl WAL v 56 8l ?
(A) 36 (B) 72
(C) 76 (D) 132
066. 58S 25 arg-ll A Bud d-)l Yy Bua-dl % 8, dl AuM Seen 25129 ?
(A) 40% (B) 60%
(C) 140% (D) 160%
067. 340 [Riss124l 1 3[0a1, 50 UL 217 25 AL 27 Al ARIAR 9:3:5 €9 dl 50 Ut Russiaii-l Avu
sefleal ?
(A) 180 (B) 100
(C) 60 (D) 80
068.  ¥isulauni 45% [enellzil wn a8 244 385 [Aznlatl a2, dl udlansi sa sean [Qensdlzi
sl el ?
(A) 850 (B) 800
(C) 600 (D) 700
069. A 6l AvUBAIAL 60 AU €9 A Al dASlad 14 69 dl -l AvAl 58 <ol ?
(A) 20 (B)23
(C)19 (D) 21
070. A, B C ¥ 514 2, 3 27 4 sa1sHi u3 531 4569, ot 6t Mol 24 511 52 1 ol Wi 1Rl §a
31390 HAL B, dl B A s2eu 3[R wagl ?
(A) 90 30 (B) 180 3[uan
(C) 120 3M (D) 130 3M
071. A WU A 214 B 15 2189 40 [A[A2 211 60 MReui Al 93 69, o sid wdu 21518 vilaaui »ud
dl 2i8l MMl Sedl yHA @9l ?
(A) 50 MRz (B) 24 [AlA2
(C) 10022 (D) 30 [AlA2
072.  AAdl2uslaui ga seen doaizu © ?
(A) 225 (B) 25
(C) 245 (D) 215
073. 1024 2dusus2 oRIGR =
(A) 1 Bawuse (B) 1 2eusde
(C) 1 vAsMmouse (D) 1 Bawusde
BCU - MASTER | 7 [ P.T.O.
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074. ARl AW U s usRY RAAGuA B ?
(A) 2uMR 214 Bag (B) 2ucunl 11 Ay,
(C) wrdlas 24 Ay (D) wrdlas x14 B4
075.  DA-unid) si-)l Garudl 913+l alty 2124 2nu €9, 918 Wlow ugal HId € 2 50 ULSAL US AL % WRAL HIY
8?
(A) sallR+ (B) >ua-t
(C) ~udaix (1.3%) us22 (D) 514R
076.  [dor, 2itaR, Al-, (A4, e 217 (B suwsl you [lSid Adl 6 ?
(A) LUR (B) 4518
(C) AL (D) WAL
077.  DNA-umid) SR cuRd-w vaiaRelld 2Ais31 ASna uslkid 28 ?
(A) QUlaRBL HoALQA, IR USIR
(B) -t [Aa12l, uRd A1
(C) At A Hiraldsia Hauay, HIRd A1R
(D) 2531 21 s 51 2ufls0 Hanay
078.  llA-l Yeu ylamil sid eifa O ?
(1) 113 Aad Rien
(2) Raxl wila A~
(3) vidl-ais eil3a [Rizen
(@) 3[eu dilsa [Ren w2 Ayad AHid2183
(A) 2iisud d B) [awmn
(C) %81 (D) 285
079.  ASi adumi ¢l uRl derinHl A 2N 52 6, d AUAH SiL gIRL EAAUHT U, 8 ?
(A) BSi+A 526R B) [Rsiax siulasu
(C).21u8 e (D) B QR
080.  NA-unigdl sy aHidl 5ARA G18IR s16, el ?
(A) wndl (B) ugd
(C) HIZ Aia§ (D) wAlis
081. . aMa uguerdl walis A 9.
(1) Falalaaarg gsuq
(2) 20 [ZAUL $51R
(3) BUL At
(A) (1) 21 (2) (B) 2) 11 (3)
(©) (1) 21 3) (D) (1) 2) 41 (3)
BCU - MASTER | 8 [ Contd.
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082.  -ll-i [Qanni [Qaneumi @l.
(1) Helrtdl auunpllat dla Lo U WM AYAUNT AY, AU ALl 99,
(2) u2iadl cidl 2uami well-l Guaia satel 2101 ol -dl, 535 well uziadl cu? sicugl w24
A 8 i Ugld AW uR 2udl Ad 89 2 Aoy g Q8 9.
(A) Qe (1) g 214 (2) wiig 8. (B) [Atu-t (2) viig 21 (1) 1 6.
(C) tiA [Qau-l i 8. (D) tiA [Qau-l viier 69,
083. AN~ 2y ADA-umiddl s19l 531 el ?
(A) B.2AA. 375+ (B) 3l.Ads dlzer
(C) AoE aden (D) si.5lsa SisHA
084. A 51 1 el wellefl g wellui 2ud 8, dl uel dd, alhy
(A) GeorouA Al Glasiy 6. (B) well-iL {2l e 51289 Glusid 8.
(C) el i eRuru wellmi 245 uu{ W . (D) Gu UL vAsur ).
085. Nl (At [QuReusi @S sy [ / (-l 0y / 2 8 di-l dlou [QAsey urie s
(1) Wrta (A5 qasuisnHi @zed, [ 201 2uas-u axtil Hius adls dade add 6o,
(2) HAA €11 (Depreciahion) wellm-u ‘L@l'j, NELIN 3]
A) @) (B) 2)
(C) 1) 41 (2) (D) ttiuigdlsisu <l
086.  FUYHHLL MR HSLHL A a2 [ Al sUL A%FA IR A3 sUHL 20dA &9 ?
(A) 2311 (B) ul313 sioum
(C) n g (D) A%
087.  ®Rdd usy arfAlseun S su AR BlQURLAAG 7
(A) [Bwaa uea (B) 9l
(C) Bawis (D) HIRvi3
088. 2l uddl oyltuze flm wssui viudd ¢ ?
(A) il (B) u2usu
(C) WA (D) AR~
089. Rt Rda B2 viaze-l Alefl 33l agral s glrul uddl uldean sida 8. duil surgau e ?
(A)Awn (B) slasial
(C) Al (D) 2L~
090.  MRAMI Covid-19 5152 sRisH-l A3 s [Bad A ¢dl ?
(A) dls14-1-2021 (B) dl. 15-1-2021
(Cy L. 16-1-2021 (D) L. 18-1-2021
091. (1) UA01d SRHI YHMNAS 6I HUUEL YR15I1R, 2021 Add uala 2 wRRalds [su aiuud
(SEEDS) 1 w4 69,
(2) 2 Y512 AlBedtd ARl SLAFw5HIR M HAa 8.
Gu-it (At / [l WAL sy-sa (A / [Qaq - 8
(A) WA (1) (B) H12 (2)
(C) tinnigl sy <l (D) (1) 211 (2) tiA
BCU - MASTER | 9 [ P.T.O.
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092. oA ouds AR s ecuni guld sida €9 ?
(A) 45 1 (B) 46 1L
(C) 44 WL (D) GuR U4l isug 1dl

093. A AHA WaR siuiRan [AM2S Uldi-t aHa wa- gomaHi sun a0 2adg uell Wi saidlo wa
WaAR wilv2 AU, 527U € ?

(A) A=l B) Rei-e
(C) AHIIH (D) 212
094.  “[Bf-Nau SR 24 “REDau oyd2r’ Al argaui A-za YRalidl 2is uner, @AAT Aygl
gafdsu-dlzil giau i saH] 2udd 8. 20 6 Adl uealdil g ¢ ?
(A) Haiadl Adl wealdi (B) A4l dcun-l dl ueadlzii
(©) tRuS sraou-ll adl wonlaxi (D) BuR W4 isunt -l

095. Qa1 U4 (@i [Qaieunl @i

(1) W52 RS-AAA (Srell-Hira A8 20600 s2a1 HAHLARL AL BUALL) SRT2s SLS9HE A3
SAUHL 2 8

(2) Ul L AHIENDL 6ILS GIRL AZ SAUHE A 9
(3) 20 VIEL A AHIElL 6lS Al Hy [Ra L vidsid Gulaan
Gua-it [Qaur / U WAL sy (A /Al /i 8 ?

A) (@) (B) (1) 1 (2)
(C) ARHI sy 13 . M)(1) @y (3)
096. Y2 Al Ruid xR u2Aolleldl §-3a1, 2020 i MHuRd 22 S2aL sHUR D ?
(A) 77 (B) 50
(C) 62 (D) 53

097.  ADARHL 5 ABU ASIR-GIRA sl GLHL ARUASHIAL (UL [y Ry R wean 2ide
uua-l (el dauni 2nda 8.2

(A) HSIRE, (B) Aiaue
(C) vdlae (D) HEMEN
098.  dls Aidl yasis (Global peace Index) Hi UAH AL $UL AU WH 2AA €9 ?
(A) Slnda-3 (B) :dlend s
() el (D) 2uSAA~3
099. 2L URL 2AlaFus, 2021 Hi HIRd $ULsHIS U WA ?
(A) 20 (B) 19
(C) 24 (D) 21

100. [a= virs gi21 %1, 2021 Hi N8 s 2udd Alus 2ulls Acna-u (Global Economy Prospects)
wSd, 2022 Hi Ay 2021-22 HE2 MR @. Wl gl ez ....... ey HUPHIA QRUAUH 20dY &

(A)7.5% (B) 6.5 %
©)7.3% (D) 8.3
BCU - MASTER | 10 [ Contd.

Free Pharmacy Notes & MCQ Mock Quiz Job Notification Visit https://thepharmapedia.com/


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF



Previous Year Paper GPAT Pharmacist Drud Inspector/DCO Visit https://thepharmapedia.com/

101. Which of the following is a physiological buffer?

(A) Phosphate (B) Bicarbonate

(C) Sodium Chloride (D) Both A&B
102. Replacement therapy may be needed in

(A) Heavy loss of water (B) Prolonged fever

(C) Diarrhea (D) All of the above
103. Which of the following is a systemic alkalizer?

(A) Sodium Chloride (B) Sodium Bicarbonate

(C) Sodium Sulphate (D) None of the above
104. Calcium gluconate is used as

(A) Antacid (B) Antioxidant

(C) Calcium replenisher (D) None of the above
105. Which of the following is a non-systemic antacid?

(A) Magnesium trisilicate (B) Sodium carbonate

(C) Sodium bicarbonate (D) None of the aboye
106. Which of the following is an anticaries agent?

(A) Sodium fluoride (B) Zinc oxide

(C) Sodium alginate (D) Sodium benzoate
107. Which of the following is also used in sunscreen formulations?

(A) Stannous fluoride (B) Amino benzoic acid

(C) Sodium chloride (D) None of the above
108. Zinc oxide is used as

(A) Astringent (B) Protective

(C) Antiseptic (D) All of the above
109. Which of the following is a natural laxative?

(A) Senna (B) Charcoal

(C) Kaolin (D) Pectin
110. Barium sulphate is used as

(A) Radioactive agent (B) Anti-caries agent

(C) Radiopaque agent (D) None of the above
111. Which of the following is a source of impurity?

(A) Raw material (B) Method of manufacturing

(@) Cross contamination (D) All of the above
112. Which of the following is/are reactive particle/s?

(A) Free radical (B) Carbocation

(C) Carbanion (D) All of the above
113. Shape of methane is

(A) Tetrahedral (B) Trigonal

(C) Dihedral (D) Linear
114. In methyl radicalization, hybridization state is

(A) sp*? (B) sp?

©)sp (D) None of the above
BCT - MASTER | 11 [ P.T.O.
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Which of the following shows the greenhouse effect?

(A) Methane

(C) Nitrogen

Carboxylic acids can be reduced by
(A) Lithium aluminum hydroxide

(C) Magnesium oxide

(B) Propane
(D) Oxygen

(B) Aluminum chloride
(D) None of the above

Which of the following takes place in bimolecular nucleophilic substitution?

(A) Retention of configuration
(C) No effect on configuration
Pyridine is basic, because of

(A) Aromatic sextet

(C) Pair of electrons on nitrogen
The correct base pair in DNA is
(A) Adenine-Thymine

(C) Adenine-Uracil

Number of rings in cholesterol is
(A)2

©4

Which of the following is a drying oil?
(A) Linseed oil

(C) Soybean oil

(B) Inversion of configuration
(D) None of the above

(B) Heterocyclic ring
(D) None of the above

(B) Guanine-Cytosine
(D) Both A&B

(B)3
D)5

(B) Coconut oil
(D) All of the above

Nitration of benzene takes place in the presence of

(A) Nitric acid

(C) Mixture of sulphuric & nitric acid
Sandmeyer reaction is used to prepare
(A) Alkyl halides

(C) Both A&B

(B) Nitrous acid
(D) None of the above

(B) Aryl halides
(D) None of the above

Which of the following is not.a non-glyceride lipid?

(A) Sphingolipids
(C) Sulfatides

(B) Gangliosides
(D) Oleic acid

Which of the following is/are human plasma lipoprotein(s)?

(A) Chylomicrons

(C) High density lipoprotein

Which amino acid contains sulphur?
(A) Leucine

(C) Tyrosine

Tertiary structure of proteins is maintained by

(A) Vander Waals’ forces
(C) Ionic bonds

(B) Low density lipoprotein
(D) All of the above

(B) Methionine
(D) Lysine

(B) Hydrogen bonds
(D) All of the above

Which of the following is not a cofactor in enzyme action?

(A) Biotin
(C) Folic acid

(B) Niacin
(D) All of the above
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129. Which of the following is not a pyridine base?

(A) Thymine (B) Uracil

(C) Guanine (D) Cytosine
130. The major product/s of glycolysis is/are:

(A) ATP (B) NADH

(C) Pyruvate (D) All of the above
131. What is/are the main function/s of dietary fat?

(A) Cell signalling (B) Providing energy

(C) Forming cell membrane (D) All of the above
132. 5@7#-oxidation of fatty acids occurs in

(A) Peroxisome (B) Mitochondria

(C) Endothelial reticulum (D) None of these
133. Base pairs in DNA maintain their structural integrity by

(A) Hydrogen Bonds (B) Hydrophobic Interactions

(C) Van der Waals’ forces (D) None of the aboye
134. Penicillamine is used as an antidote for

(A) Copper poisoning (B) Mercury poisoning

(C) Lead poisoning (D) All of the above
135. Absorption of alkaloids takes place in

(A) Stomach (B) Intestine

(C) Rectum (D) None of these
136. Which of the following does not undergo intra molecular hydrogen bonding?

(A) Salicylic Acid (B) Methyl Salicylate

(C) Methyl p-hydroxybenzoate (D) o-nitrophenol
137. Which of the following is NOT a chelating agent?

(A) Ethylene diamine tetra acetic acid (B) Deferoxamine

(C) Penicillamine (D) Histamine
138. Which of the following is NOT a Phase-I1 metabolic pathway?

(A) Oxidation (B) Hydrolysis

(C) Methylation (D) Reduction
139. Gray baby syndrome is caused by

(A) Chloramphenicol (B) Chlortetracycline

(©) Chloroquine (D) None of these
140. Which of the following is a fungicidal?

(A) Erythromycin (B) Polymyxin

(C) Nystatin (D) Rifampicin
141. Chelate formation with calcium & magnesium is exhibited by

(A) Tetracycline (B) Aminoglycosides

(C) Macrolides (D) None of the above
142. Which of the following is a monoamine oxidase inhibitor?

(A) Tranylcypromine (B) Isocarboxazid

(C) Phenelzine (D) All of the above
BCT - MASTER | 13 [ P.T.O.
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Which of the following is a cholinergic receptor?

(A) Muscarinic

(C) B-receptor

Carbonic anhydrase is NOT inhibited by
(A) Acetazolamide

(C) Dichlorphenamide

Which of the following is NOT a prodrug?
(A) Chloramphenicol palmitate

(C) Ibuprofen

Doxycycline is used to treat

(A) Chest infection

(C) Dental infection

(B) o-receptor
(D) None of the above

(B) Methazolamide
(D) Theophylline

(B) Artemether
(D) Haloperidol decanoate

(B) Skin infection
(D) All of the above

Which of the following is a folate reductase inhibitor?

(A) Trimethoprim
(C) Sulfathiazole

Ivermectin is a

(B) Sulfanilamide
(D) All of the above

(A) Antifungal (B) Antiparasitic agent
(C) Antitubercular (D) Antiseptic

Which of the following is an anti-neoplastic plant product?

(A) 5-fluorouracil (B) Vincristine

(C) Busulfan (D) Methotrexate
Which of the following is a natural local anesthetic compound?

(A) Cocaine (B) Hesylcaine

(C) Isobucaine (D) Piperocaine
Histamine is biosynthesized from histidine by

(A) Oxidation (B) Reduction

(C) Decarboxylation (D) None of the above

Which of the following propylamine derivative/s is/are used as antihistaminic(s)?

(A).Chlorpheniramine

(C) Brompheniramine

(B) Pyrrobutamine
(D) All of the above

Which of the following is NOT an oral anticoagulant?

(A) Warfarin
(C)-Phenindione

(B) Heparin
(D) Anisindione

Which of the following does NOT inhibit platelet aggregation?

(A) Aspirin
(C) Indomethacin

(B) Sulfinpyrazone
(D) Benzoic acid

Which of the following is/are used as a urinary tract anti-infective agent(s)?

(A) Nalidixic acid
(C) Nitrofurantoin

(B) Methenamine
(D) All of the above

BCT - MASTER |

Free Pharmacy Notes & MCQ Mock Quiz

Job Notification

[ Contd.

Visit https://thepharmapedia.com/


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF


CNF



Previous Year Paper GPAT Pharmacist

156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

Drud Inspector/DCO

Visit https://thepharmapedia.com/

Which of the following software is used for Docking?

(A) GOLD
(C) Autodock

(B) FLEX
(D) All of the above

Which of the following is NOT a neurotransmitter?

(A) Dopamine
(O) Cyclic AMP

(B) Acetylcholine

(D) Noradrenaline

Which of the following is the acceptor of hydrogen bond?

(A) Amine nitrogen

(C) Carboxylate oxygen

(B) Aniline nitrogen
(D) All of the above

Which of the following is not a derivative of benzoic acid?

(A) Meprylcaine

(C) Benzocaine

Lidocaine, a local anaesthetic is a/an
(A) Benzoic acid derivative

(C) Aminobenzoic acid derivative
Testosterone is biosynthesized from:
(A) Acetyl COA

(C) Citric acid

Thymol is the active constituent of
(A) Coriandrum sativum

(C) Pelargonium graveolens
Kedde’s test is used for identification of
(A) Isothiocyanide glycoside

(C) Flavonoid glycoside

(B) Piperocaine

(D) Isobucaine

(B) Anilide

(D) Salicylic acid derivative

(B) Malonicacid
(D) None of the above

(B) Myristica fragrans

(D) Trachyspermum ammi

(B) Cardiac glycoside
(D) Anthraquinone glycoside

Which of the following vector is most widely used in crop improvement and crop management?

(A) Agrobacterium
(C) Cosmid

(B) Plasmid
(D) All of the above

Match the correct pairs of morphological class of drugs

(a) Roots

(b) Woods

(c) Rhizomes

(d) Bark

(A) a-1V, b-I ,c-11, d-111
(C) a-1V, b-1, c-111, d-I1

(I) Quassia

(IT) Turmeric

(IIT) Kurchi

(IV) Rauwolfia

(B) a-1, b-1V, c-11, d-111
(D) a-I11, b-11, c-I, d-IV

Which of the following does NOT come under the class of organized drug?

(A) Leaves
(C) Fruits

(B) Flowers
(D) Gums

One of the following is an example of chemical method of evaluation

(A) Determination of Volatile Oil Content

(C) Detection of Alkaloids

(B) Determination of Refractive Index

(D) Observation of type of Vascular Bundles
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168. All of the following are microscopical characteristics of fennel except the
(A) Presence of anomocytic stomata (B) Presence of rosette calcium oxalate
(C) Presence of aleurone grains are present (D) Presence of starch grains
169. Bundles of acicular crystal of calcium oxalate is an identification characteristic of
(A) Datura stramonium (B) Erythroxylum coca
(C) Urginea maritima (D) Ailanthus glandulosa
170. Bees wax mainly contains
(A) Palmitin (B) Myricin
(C) Stearin (D) Ceroticacid
171. Reserpine and deserpidine differ each other in respect to
(A) Methoxy group at C-3 position (B) Acetyl group atC-16position
(C) Methyl group atC-10position (D) Methyl groupatC-17position
172. Give the correct match from the followings:
Carbohydrate drugs Biological Sources
(a) Gum ghatti (I) Anogeissus latifolia
(b) Indian gum (II) Cyamopsis tetragonoloba
(¢) Gum karaya (IIX) Sterculia urens
(d) Guar gum (IV) Plantago ovata
(V) Acacia arabica
(V1) Aegle marmelos
(A) a-I11, b-11, c-I, d-V (B) a-II1, b-VI, c-1, d-11
(C) a-1, b-1V, c-11, d-111 (D) a-1, b-V, c-111, d-11
173. Hyoscyamine is used as
(A) Cholinergic (B) Anticholinergic
(C) Adrenergic (D) 5-HTBlocker
174. Which of the following is NOT a tropane alkaloid?
(A) Hyoscyamine (B) Atropine
(C) Diosgenin (D) Scopolamine
175. Give the correct match from the followings
Volatile oils Major terpenoids present
(a) Clove oil (I) Anethol
(b)Fennel oil (IT) Eugenol
(¢) Eucalyptus oil (IINCineole
(d) Peppermint oil (IV)Menthol
(V) Limonene
(VI) Farnesol
(A) a-1V, b-1, c-11, d-111 (B) a-111, b-II, ¢-VI, d-1V
(O) a1, b-11, ¢-VI, d-V (D) a-11, b-1, c-1II, d-IV
176. Which one of the following molecules possesses potential antitumor activity?
(A) Morphine (B) Reserpine
(C) Papaverine (D) Camptothecine
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177. Give the correct match from the followings

Category of alkaloids Alkaloids
(a) Imidazole (I) Papaverine
(b) Indole (IT) Reserpine
(c) Isoquinoline (IIT) Pilocarpine
(d) Steroidal (IV) Conessine
(V) Arecoline
(VI) Pseudoephedrine
(A) a-1V, b-1, c-11, d-II1 (B) a-III, b-I1, c-IV, d-VI
(C) a-Il1l, b-11, c-1, d-IV (D) a-1, b-11, ¢-VI, d-V
178. The members of DTAB hold the office for a period of
(A) 2Years (B) 3Years
(C) 4Years (D) SYears
179. Trichoderma is an example of
(A) Biofungicides (B) Bioherbicides
(C) Bioinsecticides (D) None of the above
180. Which of the following instrument is used for estimation of ash content of the crude drugs
(A) Water bath (B) Incinerator
(C) Heating mantle (D) Desiccator
181. Give the correct match from following
Drugs Uses
(a) Camptothecin (I) Rheumatoid arthritis
(b) Boswellic acid (IT) Leukemia
(c) Gingkolides (IIT) Tranquilizer
(d) Valepotriates (IV) Raynaud’s disease
(V) Alopecia
(VI) Prostate cancer
(A) a-1V, b-1, ¢-I1, d-VI (B) a-II, b-1, c-1V, d-I111
(O) all, b-11, c-1, d-1IV (D) a-I1l1, b-I1, c-1, d-V

182. Relation between ester value, saponification value and acid value are
(A).Ester value = Saponification value — Acid value
(B).Ester value= Saponification value + Acid value
(C) Acid value = Ester value —Saponification value
(D) Both B and C

183. Which of the following are five essential elements of nature as per Ayurveda?

(A) Air, Earth, Fire, Water, Metal (B) Air, Earth, Fire, Water, Oil
(O) Air, Earth, Fire, Water, Space (D) Air, Earth, Fire, Water, Mind
184. Part I of GMP includes
(A) SOPs (B) Distribution
(C) Medical services (D) Waste management
BCT - MASTER | 17 [ P.T.O.
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18S. If an herbal drug contains any harmful or toxic substance which may render it injurious to health,
as per the Drugs and Cosmetic act, such drug is termed as
(A) Adulterated drug (B) Spurious drug
(C) Magical drug (D) Misbranded drug
186. During pregnancy, following cellular adaptation (s) is/are observed in the uterus:
(A) Physiological Atrophy (B) Physiological Hypertrophy
(C) Physiological Hyperplasia (D) Both B and C
187. Which type of necrosis is observed in the centres of foci of tuberculosis infections?
(A) Coagulative necrosis (B) Liquefaction necrosis
(C) Caseous necrosis (D) Fat necrosis
188 Identify the five cardinal signs of inflammation.
(A) Redness, Chills, Swelling, Pain, loss of function
(B) Dry mouth, Redness, Swelling, Pain, loss of function
(C) Redness, Swelling, Heat, Pain, discoloration
(D) Redness, Swelling, Heat, Pain, loss of function
189. Conversion of arachidonic acid to prostaglandins is catalysed by
(A) Phospholipase (B) Kinin
(C) Cyclo-oxygenase (D) Lipo-oxygenase
190. Which of the following is NOT an example of chronic inflammation?
(A) Bacterial Pneumonia (B) Tuberculosis
(C) Syphilis (D) Crohn’s disease
191. Hansen’s disease is caused by
(A) Treponema pallidum (B) Mycobacterium leprae
(C) Neisseria gonorrhoea (D) Cryptococcus neoformans
192. Malignant tumors of epithelial origin are known as
(A) Teratoma (B) Blastoma
(C) Carcinoma (D) Sarcoma
193. Which of the following virus is NOT oncogenic?
(A) Epstein Barr virus (B) Human Herpes virus
(C) Human T-cell lymphotropic virus (D) Pox virus
194. Identify the INCORRECT statements regarding duodenal ulcers.
(i) Pain is severe and-is aggravated by food
(ii) Hypersecretion of acid
(iii) Significant loss of weight
(iv) Pain occurs late at night
(A) (i)and (ii) (B) (i) and (iii)
(©)(i), (i) and (iii) (D) (i), (iii) and (iv)
195. ‘Which of the following statements are TRUE about stable angina?
(i) Attacks of pain following physical exertion or emotional excitement
(ii) Attacks of pain at rest
(iii) ECG shows ST segment depression
(iv) Pathological reports show no elevation of enzymes in blood
(A) (ii) and (iii) (B) (i), (ii) and (iii)
(O) (i), (iii) and (iv) (D) (i) and (ii)
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196. Angiotensinogen _ REMIN  ~ Y . Apgijotensin II

Identify X and Y.
(A) Angiotensin I, Angiotensin converting enzyme
(B) Angiotensin I, Phospholipase
(C) Prostaglandins, Angiotensin converting enzyme
(D) Aldosterone, Angiotensin converting enzyme
197. Which of the following statements are TRUE regarding polyol pathway in diabetes mellitus?
(i) Aldose reductase converts glucose to sorbitol and fructose in the cells of hyperglycaemic patient.

(ii) This mechanism is responsible for producing lesions in aorta, lens of the eyes, and peripheral
nerves.

(iii) Intracellular accumulation of sorbitol causes myoinositol accumulation in the cell.
(iv) This pathway is beneficial for diabetic patients.
(A) (ii) and (iii) (B) (i), (ii) and (iii)
(O) (i), (iii) and (iv) (D) (i) and (ii)
198. Which of the following statement (s) describe the pathophysiology of GOUT?
(i) Hyperuricemia is the fundamental biochemical hallmark.
(ii) It is a disorder of purine metabolism.
(iii) Renal excretion of uric acid increases.

(iv) Deposition of needle shaped crystals of monosodium urate monohydrate in and around joints

of extremities.
(A) (iii) only (B) (i), (ii) and (iii)
(O) (i), (iii) and (iv) (D) (i), (ii) and (iv)

199. Match the following diseases with their respective features(i)Alzheimer’s diseasePA localized area
of necrosis caused by local vascular occlusion(ii)Parkinson’s diseaseQDisorder of brain function
characterized by periodic and unpredictable occurrence of seizures(iii) EpilepsyRAbnormalities of
posture and movement(iv)Cerebral InfarctionSProgressive senile dementia

(A) ()-R, (iD)-P, (iii)-S, (iv)-Q (B) (i)-S, (ii)-Q, (iii)-P, (iv)-R
(©) (-S, (i)-R, (iii)-Q, (iv)-P (D) ()-R, (ii)-S, (iii)-P, (iv)-Q
200. Match the following enzymes with their respective inhibitors(i)Angiotensin Converting

EnzymePA cetazolamide(ii)AromataseQAnastrozole(iii)Carbonic anhydraseRLovastatin(ivyHMG
CoA reductaseSCaptopril

(A) (i)-R, (i)-P, (iii)-S, (iv)-Q B) ()-S, (ii)-Q, (iii)-P, (iv)-R

(C) (=S, (i)-R, (iii)-P, (iv)-Q (D) ()-Q, (ii)-S, (iii)-P, (iv)-R
201. Which statements are TRUE about Co-trimoxazole?

(i) It is a fixed dose combination of trimethoprim and sulfamethoxazole.

(ii) Sulfamethoxazole and Trimethoprim and are present in a dose ratio of 5:1.

(iii) Half-lives are different for trimethoprim and sulfamethoxazole.

(iv) It is safe during pregnancy.

(A) (i) and (i) (B) (i), (ii) and (iii)
(C) (i), (iii) and (iv) (D) (i), (ii) and (iv)
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202. Identify the CORRECT statement (s) regarding standard RNTCP regime for Multi-Drug Resistant
Tuberculosis (MDR-TB).
(i) The treatment of MDR-TB consists of 4 drugs intensive phase lasting 6-9 months
(ii) The treatment of MDR-TB consists of 6 drugs intensive phase lasting 6-9 months
(iii) The treatment of MDR-TB consists of 4 drugs continuation phase lasting 6-9 months
(iv) The treatment of MDR-TB consists of 4 drugs continuation phase lasting 18 months
(A) (i) and (iii) (B) (ii) and (iii)
(O) (i) only (D) (ii) and (iv)
203. Which statement (s) is/are FALSE regarding aminoglycosides?
(i) They are bacteriostatic.
(ii) They are active primarily against aerobic gram-negative bacilli.
(iii) They do not cross placenta.
(iv) They are inhibitors of protein synthesis.
(A) (i) only (B) (i) and (iii)
(C) (i), (i) and (iii) (D) (ii) and (iv)
204. Enoxaparin is a
(A) Low molecular weight heparin (B) Unfractionated heparin
(C) Oral anti-coagulant (D) Vitamin K antagonist
205. Match the diuretic drugs with their mechanism of actions(i)FurosemidePCarbonic anhydrase
inhibitor(ii)ChlorothiazideQAldosterone antagonist(iii)AcetazolamideRInhibitor of Na*-Cl-
symporter(iv)SpironolactoneSInhibitor of Na™-K*-2CI cotransporter
(A) (i)-R, (ii)-P, (iii)-S, (iv)-Q B) (i)-S, (ii)-Q, (iii)-P, (iv)-R
(C) (i)-S, (i)-R, (iii)-P, (iv)-Q (D) (1)-Q, (ii)-S, (iii)-P, (iv)-R
206. Identify the CORRECT pair of antibiotics with their respective source
(A) Aminoglycosides: Actinomycetes (B) Penicillins: Bacteria
(C) Polymyxin: Fungi (D) Macrolides: Bacteria
207. Which statement is NOT TRUE regarding Aspirin?
(A) It reversibly inactivates cyclooxygenase enzyme
(B) It inhibits platelet aggregation.
(C) When given with warfarin, it can cause a hazardous increase in the risk of bleeding.
(D) It is hydrolysed by esterases yielding salicylate
208. Identify the INCORRECT Agonist-Antagonist pair
(A)'Noradrenaline: Propanolol (B) Ethinylestradiol: Danazol
(C) Histamine: Mepyramine (D) Morphine: Naloxone
209. Which of the following vasodilator is used to treat baldness?
(A) Minoxidil (B) Nicorandil
(€) Cromokalim (D) Lemakalim
210. Which statements are CORRECT regarding Phase I of drug metabolism?
(i) Phase I reactions are catabolic.
(ii) Phase I reactions usually result in increased lipid solubility.
(iii) Phase I reactions introduce a relatively reactive group in to the drug molecule.
(iv) Phase I reactions increase renal elimination.
(A) (i) and (ii) (B) (i) and (iii)
(C) (i), (ii) and (iii) (D) (i), (iii) and (iv)
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211. Which of the following pair is INCORRECT?
(A) Paracetamol: Hepatotoxic (B) Streptomycin: Cardiotoxic
(O) Cisplatin: Nephrotoxic (D) Cyclophosphamide: Myelotoxic
212. Cyclophosphamide produces haemorrhagic cystitis. This adverse effect occurs due to
(A) Trifluoroacetic acid (B) N-Acetyl-p-benzoquinone imine
(C) Acrolein (D) Phosgene
213. Which of the following is a fourth-generation cephalosporin?
(A) Cefuroxime (B) Cefepime
(C) Ceftriaxone (D) Cefadroxil
214. Facial bones are in number.
(A) 12 (B) 14
(©) 26 (D) 208
215. Which of the following statement is NOT TRUE regarding skeletal muscles?
(A) Skeletal muscles are striated. (B) Skeletal muscles are involuntary in nature.
(C) Skeletal muscles are multi-nucleated. (D) Skeletal muscles. are under conscious control.
216. Which of the following is the largest cranial nerve?
(A) Optic nerve (B) Olfactory nerve
(C) Vagus nerve (D) Trigeminal nerve
217. What is FALSE regarding cardiac output?
(A) Cardiac output is determined by stroke volume and the heart rate.
(B) An increase in cardiac output decreases blood pressure.
(C) Cardiac output decreases with decrease in force of contraction of heart.
(D) Cardiac output increases with increased parasympathetic activity.
218. Where is popliteal artery located?
(A) Behind knee (B) Behind elbow
(C) Pelvic cavity (D) Sole of foot
219. Identify the INCORRECT pair.
(A) Stapes: Ear (B) Humerus: Upper Arm
(C) Tibia: Lower leg (D) Metacarpal bones: Foot
220. Involuntary loss of urine is known as
(A)Micturition (B) Incontinence
(C) Defecation (D) Nocturia
221. Identify the CORRECT statements regarding vermiform appendix.
(i) It is a fine tube, which leads from the caecum.
(ii) It has digestive function.
(iii) It can cause significant problems when it becomes inflamed.
(iv) It is closed at one end.
(A) (i) and (ii) (B) (ii) and (iii)
(C) (i), (ii) and (iii) (D) (i), (iii) and (iv)
222, The amount of air passing into and out of the lungs during each cycle of breathing is known as
(A) Tidal volume (B) Residual volume
(C) Inspiratory reserve volume (D) Expiratory reserve volume
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223, Which of the following statement regarding vasopressin is CORRECT?
(A) It is secreted by anterior pituitary.
(B) It increases urine output.
(C) Hyposecretion of vasopressin cause diabetes insipidus.

(D) It decreases reabsorption of water by kidneys.

224. Identify the genetic disorder in which there are three copies of chromosome 21.
(A) Turner syndrome (B) Klinefelter syndrome
(C) Down syndrome (D) Metafemale syndrome
225. Each ovary is attached to the upper part of the uterus by the ovarian ligament and to the back of
the broad ligament by
(A) Mesovarium (B) Myometrium
(C) Fimbriae (D) Perimetrium
226. Posology is a branch of Pharmacy which deals with
(A) Study of dosage forms (B) Study of doses
(C) Study of drug interaction (D) All of the above
227. Translate Omni nocte into English
(A) Droughts (B) One Tablespoonful
(C) Every night (D) Whenever necessary
228. Urethral suppositories are also called as
(A) Pessaries (B) Nasal bougies
(C) Bougies (D) None of the above
229. How many fluid ounces are in a pint?
(A) 16 B) 20
(C) 40 (D) None of the above
230. In conductivity test, if bulb glows on passing electric current, what would be the type of emulsion?
(A) w/o emulsion (B) o/w emulsion
(C) Multiple emulsion (D) None of above
231. Which of the following is an example of aqueous bases?
(A) Hydrogenated oil (B) Emulsified cocoa butter
(O) Glycero-gelatin base (D) None of the above
232. Brookfield viscometer is an example of
(A) Cone and plate (B) Extrusion
(©) Rotation sphere (D) Rotating spindle
233. Amorphous form of drug dissolves ......... in water than/as the crystalline form.
(A)_ Slower (B) Faster
(C) Equally (D) None of the above
234, Tragacanth in water exhibits
(A) Plastic flow (B) Pseudoplastic flow
(C) Newtonian flow (D) Dilatants flow
235. The unit of kinematic viscosity is
(A) Dynes/cm2 (B) Dynes.sec/cm
(C) Stokes (D) Poise.
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Vaseline exhibits ......... at room temperature.

(A) Dilatant flow
(C) Pseudoplastic flow

(B) Plastic flow

(D) Newtonian flow

With rise in temperature, surface tension of a liquid will

(A) Increase

(C) Remains the same
Sulphur sol is an example of
(A) Lyophillic colloids

(C) Hydrophilic colloids

(B) Decrease
(D) None of the above

(B) Lyophobic colloids

(D) Association colloids

Electrodialysis is a method used for

(A) Stabilisation
(C) Purification

(B) Identification
(D) Synthesis

Cake formation is the characteristic feature of a

(A) Flocculated suspensions

(C) Thixotrophic suspensions

(B) Deflocculated suspensions

(D) Structured.suspensions

Coulter counter method is used to determine

(A) Particle number

(C) Particle volume

Anaphylaxis reaction occurs due to
(A) IgA

(C) IgM

(B) Particle interaction
(D) Viscosity

(BYIgE
(D) IeG

The stability of lyophobic colloids can be described by

(A) DLVO theory
(C) Schulze Hardy rule

(B) Lyotropic series
(D) Donnan membrane effect

Varicella zoster is the causative organism for

(A) Small pox
(C) Herpes

(B) Dermatophytosis

(D) Infectious mononucleosis

Talcum powder is commonly sterilized by

(A) Dry Heat

(C) Gaseous sterilization
Biological indicator used for moist
(A) Bacillus subtilis

(O)'Bacillus stearothermophilus
Which test is performed to test the
(A) Schik test

(C) Lepromin test

(B) Moist Heat

(D) All of the above
heat sterilization is

(B) Bacillus pumilus

(D) Aquaticus thermophilus
susceptibility to diphtheria?

(B) Mantoux test

(D) Dick test

Temperature used for sterilization of vaccines is

(A) 53-65°C
(C) 90-95°C

(B) 70-75°C
(D) None of the above

Which of the following antibody is pentamer?

A) IgG
(O) IgA

(B) IgM
(D) IgD
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Which of the following organism has teichoic acids as the main surface antigens?

(A) Gram negative bacteria

(C) Virus

The causative organism of hepatitis B is
(A) Single-strand DNA

(C) Single-strand RNA

(B) Gram positive bacteria
(D) None of the above.

(B) Double-strand DNA
(D) All of the above

Virus mediated transfer of host DNA from one cell to another is known as

(A) Transduction (B) Transformation
(C) Transcription (D) Integration
Which of the following is associated with Coomb’s test?

(A) Typhoid (B) Syphilis

(C) Yellow fever (D) Antiglobulin

The following tests are used to detect antibodies; EXCEPT

(A) Complement fixation
(C) Coagulase test

(B) Haemaglutination inhibition

(D) Indirect immunofluorescence

The following contain live-attenuated live vaccines, EXCEPT

(A) Polio vaccine
(C) Yellow fever vaccine

(B) Hepatitis Al vaccine
(D) Measles.vaccine

The following drug acts by inhibiting cell wall synthesis of the micro-organisms

(A) Gentamicin

(C) Amphotericin B

VDRL test is used to detect
(A) Typhoid

(C) AIDS

(B)Cefuroxime
(D) Erythromycin.

(B) Tuberculosis
(D) Syphilis

Heat flow is achieved by actual mixing of warmer portions with cooler portions of the same material,

the process is known as
(A) Drying
(C) Convection

(B) Conduction
(D) Radiation

Which of the following crystallizer uses the evaporation technique to achieve super-saturation?

(A) Circulation. magma crystallizer
(C) Static tank crystallizer

Gelsication is the term used for

(B) Sternson-Walker crystallizer
(D) All of the above.

(A) Freeze drying (B) Turbo drying
(C) Vacuum drying (D) Rotary drying
Unit of the rate of heat transfer is

(A).Joule (B) Newton

(C) Pascal (D) Watt
Following is NOT the mechanism of size reduction

(A) Impact (B) Cutting

(C) Attrition (D) Elutriation
Which of the following is NOT a filter aid?

(A) Diatomite (B) Carbon

(C) Gelatin (D) Asbestos
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264. Integrity test is intended for the following filters

(A) Leaf filters (B) Drum filters
(C) Membrane filters (D) Edge filters
265. The equation describing the factors affecting the rate of filtration is
(A) Stokes equation (B) Darcy’s equation
(C) Dalton’s equation (D) None of the above
266. Hammer mill works by following the principle of
(A) Attrition (B) Impact
(C) Compression (D) None of the above

267. The fluid flow in which the fluid particles in one layer do not mix with the fluid particles in the
other layer is called as

(A) Laminar flow (B) Turbulent flow
(C) Layer flow (D) None of the above
268. Following is a most widely used technique for extraction of volatile oils
(A) Azeotropic distillation (B) Steam distillation
(C) Molecular distillation (D) Destructive distillation
269. Ideally the drying should be done to a level of
(A) Equilibrium moisture content (B) Critical moisture content
(C) Zero moisture content (D) None of the above
270. In hard gelatin capsules, the optimum moisture content of capsule shell is between......
(A) 5-8% (B) 8-12%
(C) 20-24% (D) 12-15%
271. Which of the following is used to fill powdered dry solid into soft gelatin capsule?
(A) Accogel (B) Rotobil
(C) Rotosort (D) Rotoweigh
272. In which parenteral preparation pyrogen-test in NOT compulsory
(A) Opthalmics (B) Intravenous
(C) Subcutaneous (D) Intramuscular
273. Solid contents of parenteral suspensions usually range between 0.5%-5%, but may go as high as
........... in some antibiotic preparations.
(A) 50% (B) 40%
(©) 30% (D) None of the above
274. Which of the following is an international regulatory authority for drug regulation?
(A) CDSCO (B) EMA
(C) WHO (D) None of the above
275. In hybridoma technology, hybrid cells are selected in
(A)-MS medium (B) x-gal medium
(C) Whites medium (D) HAT medium
276. Western blotting technique is used to detect
(A) DNA (B) Protein
(C) RNA (D) Small nucleotide fragments
2717. Cosmids are obtained from
(A) Bacteria and virus (B) Virus and Yeast
(C) Yeast and Bacteria (D) Molds and virus
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Which of the following disease is protected by BCG vaccine?

(A) Malaria (B) Typhoid

(C) Tuberculosis (D) Plague

Which type of restriction enzymes are mainly used in recombinant DNA technology?
(A) Type-1 (B) Type-II

(C) Type-1II (D) Type-1V

Plasmid is obtained from

(A) Bacteria (B) Virus

(C) Yeast (D) Molds

Post transcriptional modifications are absent in

(A) Bacteria (B) Yeasts

(C) Moulds (D) Protozoa

The first step in PCR is called as

(A) Annealing (B) Denaturation

(C) Extension (D) Priming

Which bacterium is used in the production of insulin by genetic engineering?
(A) Saccharomyces (B) Rhizobium

(C) Escherichia (D) Mycobacterium
The expression of a transgene in target tissue is identified by a

(A) Promoter (B).Enhancer

(C) Reporter (D) None of the above
Sabin is .....type of vaccine

(A) Live (B) Attenuated

(O) Killed (D) None of the above

An agent used to clean the surface of teeth and there by decrease the tooth decay and mouth odour

is

(A) Abrasive

(C) Dental paste

Titanium dioxide is commonly used in
(A) Vanishing cream

(C) Ophthalmic Cream

Vanishing Cream is used to form

(A) Greasy film

(C) Non-occlusive layer

(B) Dentifrice
(D) Dental cone

(B) Sunscreen Cream

(D) Aqueous calamine cream

(B) Non-greasy film
(D) None of the above

Resorcinol is used in the preparation of hair tonic, because

(A) It properly mixes in formulations

(C) It has powerful antiseptic properties
Castor oil is used in lipsticks because it is a
(A) Good plasticizing agent

(C) Antimicrobial agent

Cold cream is an example of

(A) o/w type of emulsion

(C) Adsorbent cream

(B) It has antioxidant properties
(D) None of the above

(B) High staining agent
(D) Good antioxidant agent

(B) w/o type of emulsion

(D) Oleaginous cream
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292, Following is NOT the synthetic humectants
(A) Butylene glycol (B) Allantoin
(C) Stearic acid (D) Glycerin
293, Schedule ........ of the D&C Act 1940 and Rules 1945 deals with the guidelines for Good
Manufacturing Practices
AY B)M
orp D)X
294. The main objective of the Pharmacy Act, 1948 is to
(A) Regulate the profession of pharmacy
(B) Control the advertisement of drugs
(C) Prevent the infliction of unnecessary pain or suffering on animals
(D) Regulate the sale of narcotic drugs and psychotropic substances
295. Which of the following is a psychotropic substance under the Narcotic Drugs and Psychotropic
Substances Act?
(A) Barbital (B) Ampicillin
(C) Albendazole (D) Chloroquine
296. Schedule K pertains to
(A) List of drugs that can be used with caution under medical supervision
(B) List of drugs exempted from certain provisions governing import of drugs
(C) List of drugs exempted from certain provisions governing manufacture and sale of drugs
(D) List of diseases that a drug cannot claim to cure
297. Which of the following schedule covers standards for mechanical contraceptives?
(A) Schedule S (B) Schedule Q
(C) Schedule R (D) Schedule W
298. Which of the following organization 'comes under the purview of the Right to Information Act
2005?
(A) Narcotics Control Bureau (B) Aviation Research Centre
(C) Directorate of Enforcement (D) None of the above
299, As per the Code of Pharmaceutical Ethics, which of the following is/are acceptable ethical practice?
(A) Registered pharmacist can give guarantee of therapeutic efficacy
(B) Registered pharmacist can substitute an ingredient without consulting the prescriber
(C) Registered pharmacist can render first aid in emergency
(D)All of the above
300. XYZ pharmaceutical company develops a new tablet coating technology. What type of Intellectual
Property Rights can be used by the company to stop others from copying this technology?
(A) Registered Designs (B) Copyright
(C) Trademark (D) None of the above
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